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MORE BALANCING PROBLEMS

Complete each of the following synthesis reactions and
balance:

4Sc + 30, - 25¢c,0;4

6K+ N, = 2K;N

H,0 + SO; > H,S50,

NH, + HC1 = NH.C1

K,0 + CO, - K,CO;

Complete each of the following decomposition reactions and
balance:

2Cu0 - 2Cu + 0,

SicCl, - Si + 2C1,

CaCO, - Cal + Co,

2505 - 250, + 0, or 250, =» 28 + 30,

2H,0 - 2H, + O,

Complete each of the following single replacement reactions
and balance:

Cd (NO3) , + 20g - 2AgNO; + Ccd

UF, + 3Zn - 3ZnF, + U

Snl, + 2C1, - SnCl, + 271,

2CasP, + 6Br, -> 6CaBr, + P,

2Fe,05 + 3Pt =*> 3PtO, + 4Fe (use bold 0.S. for Pt)
Complete each of the following double replacement reaction
and balance:

3ZnCO; + 2H,PO, - Zn; (POy) , + 3H,CO4

2NaCl0; + CasSQ, - Na,S0, + Ca(Cl0;),

2AU,S;, + 3PbC - Au,Cy + 3PbS,

W(SO,)s +  2Y(ClO,) s = W(ClO,), +  Y,(S0,);



